BRFEEEE—F 1 |

1514 7
B o) 721 MW ( 829 %)

=
B S0 98.52 kPa

=ERER 35 BE/NTA—4F (FR28F2A4H12:008Fm)
— EE/TA—4 |
1,7 EA
*ﬁglﬁiﬁtﬁfﬁiza (#§L§1§]1;r<1593) 1539 MPa
— ME B (RFI=RAK)
B FIER N I (FEZEE 17.0~70.0 420 %
T sG 7K
K
T
BFIFEBEE / "" Bk
o
FRFIFEEHES I%;?\I]*Z
RT (%N
Wk w7

7K
ZAE{E 1~100) 23 cps

PH B (FESh % aT e R 1E)
%@TE S T ;‘5_1”; (BE{E 0~3210)

1 R B HIM IR

296.7_°C

RS LB D (RIS )
(18 =2660)

2121.6 MWt( 79.8%)

]

[R. EZARAMEZRRT—I3Y

BERER 5% ESMANO.1
fﬂ; E 43 nGy/h
BE 21 m/s
B it 4k E=4RRFNo0.5

38 nGy/h

[ ®=4RRL-E=4RTF—Yav (1B%(E20~170) |

E=4KRAMNo.4
28 nGy/h

SR A it ®/ 36 nGy/h

\P 1! / 39 nGy/h

E=ARZXFNo0.2
33 nGy/h

E=ART—av

E=ARZXFNo0.3

C— KB




